

OFFICE OF THE EXECUTIVE ENGINEER SHAHEED MOHTARMA BENAZIR BHUTTO TOWN

1st Floor, Apollo Centre, Dalmia Road, Karachi

BID OPENING REPORT

1. Name of Procedure Agency.

Project Director

Shaheed Mohtarma Benazir Bhutto Town

2. Tender Reference No.

Nil

3. Tender Description / Name of Work.

CONSTRUCTION OF KACHI DRAIN FOR DISPOSAL

OF RAIN WATER AND ALLIED WORKS ALONG PERIPHERIAL LIMITS OF DEH MANDIARI

KARACHI. CH 3+100 TO 3+300

4. Tender Published.

SPPRA web site Serial No. 35948 & SPPRA ID

No. 2147483647

5. Total Bid Documents Sold.

03 Nos.

6. Total Bids Received.

03 Nos.

7. Technical Bid Opening date.

Not applicable.

8. No. of Bid Technically Qualified

Not applicable

9. Bid(s) Rejected.

No

10. Financial Bid Opening date

17th January 2018

11. Bidders Qualification

All Bidders are qualified as per SPPRA Rule-46(i)(a)

12. Bid Evaluation Report:

S.N o.	Name of Bidder.	Cost offered by the Bidder. (PKR)	Engineer's Estimate	Comparison with Estimated Cost.	Ranking in Terms of Cost.	Reasons for Acceptance / Rejection.
1	M/s. Rajgan Enterprises	Rs. 987,496/-	Rs. 961,441/-	2.71% above	lst	Accepted Being the 1st Lowest.
2	M/s. Askari Enterprises	Rs. 998,168/-		3.82% above	2nd	Rejected being the 2nd Lowest
3	M/s. King Asif Rehman & Brothers	Rs. 999,899/-		4.00% above	3rd	Rejected being the 3rd Lowest

Syed Zahid Hussain

Executive Engineer, Civic Centre Division

KDA (Member)

Executive Engineer Civic Centre Division, K.D.A Mr. Ali Abbas

Deputy Director (F&A), SMBBT

(Member/Secretary)

Proputy Director (F&A)
Shaheed Richtarms Banazir Bhutto
Township Singh

Waleed Bashir

Executive Engineer, SMBBT (Chairman)

SHAHEED MOHTARMA BENAZIR BHUTTO TOWN (S.M.B.B.T)

CONSTRUCTION OF KACHI DRAIN FOR DISPOSAL OF RAIN WATER AND ALLIED WORKS ALONG PERIPHERIAL LIMITS OF DEH MANDIARI KARACHI. CH 3+100 TO 3+300 SMBBT/KAR/KCD-004

Comparative Statement

							Lowest % above		2nd Lowest 3.82% above		3rd Lowest 4.00% above	
S.No.	DESCRIPTION	QTY	UNIT	Estimated Cost		M/s. Rajgan Enterprises		M/s. Askari Enterprises		M/s. King Asif Rehman & Brothers		
				RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	
106a	Excavate unsuitable common material.	34496	Cft.	3.50	120,735.00	3.59	124,007.24	3.63	125,347.40	3.64	125,564.72	
106b	Excavate unsuitable all type of rock material	51744	Cft.	7.00	362,206.00	7.19	372,021.54	7.27	376,042.02	7.28	376,694.00	
108c	Formation of embankment from borrow excavation in common material.	37500	Cft.	12.76	478,500.00	13.11	491,467.35	13.25	496,778.70	13.27	497,640.00	
	Total				961,441.00		987,496.00		998,168.00		999,899.00	
	Grand Total			-/	961,441.00		987,496.00		998,168.00		999,899.00	

(Syed Zahid Hussain)

Executive Engineer, Civic Centre Division

KDA (Member PC)

LX Cuttive Engineer

Civic Centre Division, K.D.A

(Ali Abbas)

Deputy Director (F&A), SMBBT (Member / Secretary, PC)

Plany Director (F&A) Subject Bohtarma Banazir Bhutto Township Sindh

(Waleed Bashir)

Executive Engineer, SMBBT (Chairman, PC)

SUBJECT:

MINUTES OF THE 2ND MEETING OF THE PROCUREMENT COMMITTEE (PC) FOR OPENING OF TENDER OF CONSTRUCTION OF KACHI DRAIN FOR DISPOSAL OF RAIN WATER AND ALLIED WORKS ALONG PERIPHERIAL LIMITS OF DEH MANDIARI KARACHI. CH 3+100 TO 3+300.

Date

17-01-2018

Venue

Office of the Executive Engineer, SMBBT, 1st Floor Apollo Centre, Dalmia

Road Karachi.

Participants

articipants

1. Waleed Bashir

Chairmen

Executive Engineer, SMBBT

2. Syed Zahid Hussain

Member

Executive Engineer, Civic Centre Division, KDA

3. Ali Abbas

Member/Secretary

Deputy Director (F&A), SMBBT

The meeting was started with the recitation of HOLY QURAN. The following were the deliberations and Recommendations of the meeting:-

- The Tender Documents of subject work 03 Nos. of Tender Documents sold and received from following Contractors:
 - i- M/s. Rajgan Enterprises.
 - ii- M/s. Askari Enterprises
 - iii- M/s. King Asif Rehman & Brothers.
- The PC evaluated and made Bid Evaluation Report (Annexure-A), accordingly, M/s. Rajgan
 Enterprises found lowest bidder and recommended for issuance of Acceptance Letter to
 M/s. Rajgan Enterprises.

3. The meeting ended with a vote of thanks from and to the chair.

Syed Zahid Hussain

Executive Engineer, Civic Centre Division

KPAcutive Engineer Civic Centre Division, K.D.A Mr. Ali Abbas

Deputy Director (F&A), SMBBT

Doputy Director (F&A)
Shaheed Biohtarma Banazir Bhutto
Toomship Sindh

Waleed Bashir

Executive Engineer, SMBBT

Copy to:

- 1. All Participants
- 2. PS to the Project Director, SMBBT

SUBJECT:

MINUTES OF THE 1ST MEETING OF THE PROCUREMENT COMMITTEE (PC) FOR CONSTRUCTION OF KACHI DRAIN FOR DISPOSAL OF RAIN WATER AND ALLIED WORKS ALONG PERIPHERIAL LIMITS OF DEH MANDIARI KARACHI. CH 3+100 TO 3+300.

Date

27th October 2017

Venue

Office of the Executive Engineer, SMBBT, 1st Floor Apollo Centre, Dalmia

Road Karachi.

Participants

l. Waleed Bashir

Chairmen

Executive Engineer, SMBBT

2. Syed Zahid Hussain

Member

Executive Engineer, Civic Centre Division, KDA

3. Ali Abbas

Member/Secretary

Deputy Director (F&A), SMBBT

The meeting was started with the recitation of HOLY QURAN. The following were the deliberations and Recommendations of the meeting:-

- The draft of NIT & Tender Documents of subject work were prepared conforming the requirements of SPPRA Rule-2010 and amended 2017 (Annexure- A & B)
- The draft of NIT & Tender Documents of subject work are recommended for obtaining approval of the competent authority before hoisting on SPPRA website and issuance to the interested contractors.

3. The meeting ended with a vote of thanks from and to the chair.

Syed Zahid Hussain

Executive Engineer, Civic Centre Division

Civic Centre Division, K.D.A.

Mr. Ali Abbas

Deputy Director (F&A), SMBBT

Deputy Director (F&A) Shaheed Bohtanna Banazir Bhutto Tobaship Sindh

Waleed Bashir

Executive Engineer,

SMBBT

Copy to:

1. All Participants

2. PS to the Project Director, SMBBT

BIDDERS QUALIFICATION REPORT

Rule-46(i) (a) Single Stage One Envelope Procedure

Name of Wor

CONSTRUCTION OF KACHI DRAIN FOR DISPOSAL OF RAIN WATER AND ALLIED WORKS ALONG PERIPHERIAL LIMITS OF DEH MANDIARI KARACHI. CH 3+100 TO 3+300

SMBBT/KAR/KCD-004

SPPRA web site Serial No.

35948 & SPPRA ID No. 2147483647

Bid Opening Meeting:

17 January 2018

Name of Bidder M/s. Rajgan Enterprises

S.No.	Eligibility	Yes	No
1	Relevant Experience	Yes	
2	Financial Statement	Yes	
3	Registration with Income Tax	Yes	
4	Registration with Sindh Revenue Board	Yes	
5	03 three years turn over	Yes	
6	Registration with Sales tax where applicable	N/A	
			Qualified

Name of Bidder M/s. Askari Enterprises

S.No.	Eligibility	Yes	No
1	Relevant Experience	Yes	
2	Financial Statement	Yes	
3	Registration with Income Tax	Yes	
4	Registration with Sindh Revenue Board	Yes	
5	03 three years turn over	Yes	
6	Registration with Sales tax where applicable	N/A	
			Qualified

Name of Bidder M/s. King Asif Rehman & Brothers

S.No.	Eligibility	Yes	No
1	Relevant Experience	Yes	
2	Financial Statement	Yes	
3	Registration with Income Tax	Yes	
4	Registration with Sindh Revenue Board	Yes	
5	03 three years turn over	Yes	
6	Registration with Sales tax where applicable	N/A	
			Oualified

(Syed Zahid Hussain)

Executive Engineer, Civic Centre

Division

KDA (Member PC)
Executive Engineer
Civic Centre Division, K.D.A

(Ali Abbas)

Deputy Director (F&A), SMBBT (Member / Secretary, PC)

Deputy Director (F&) Shaheed Mohtanna Banazir Lihutto Toomship Singh

(Waleed Bashir)

Executive Engineer, SMBBT

(Chairman, PC)

ATTENDANCE SHEET

SUBJECT:

CONSTRUCTION OF KACHI DRAIN FOR DISPOSAL OF RAIN WATER AND

ALLIED WORKS ALONG PERIPHERIAL LIMITS OF DEH MANDIARI

KARACHI. CH 3+100 TO 3+300, SMBBT/KAR/KCD-004.

Date of Opening:

17th January 2018

Venue:

Office of the Executive Engineer, Mandiari, SMBBT, Karachi.

S.No	Contractor/Firm/Company	Signature
1	M/s. Rajgan Enterprises	lil"
2	M/s. Askari Enterprises	Ackari
3	M/s. King Asif Rehman & Brother	Sif

Recutive Engineer

Shaheed Mohtarma Banazir Bhutto Township Sindh

Deputy Director (F&A)

Civic Centre Division, K.D.A



SHAHEED MOHTARMA BENAZIR BHUTTO TOWNS BOARD OF REVENUE, GOVERNMENT OF SINDH

1st Floor, Apollo Centre, Dalmia Road, Karachi

No. PD/SMBBT/80-14

Dated 29/11/2017

NOTIFICATION

RE-CONSTITUTION OF PROCUREMENT COMMITTEE FOR DEVELOPMENT WORKS OF SHAHEED MOHTARMA BENAZIR BHUTTO TOWN (SMBBT) IN SINDH

With the approval of competent authority, notification for Procurement Committee for Development Works of Shaheed Mohtarma Benazir Bhutto Town (SMBBT) in Sindh is hereby approved as per SPPRA Rule-7&8 of Sindh Public Procurement Rules-2010 and amended 2017 comprising of the following officers:

(i)	XEN (Concern), SMBBT Horticulturist (For Horticulture Works)	Executive Engineer / Horticulturist, SMBBT	Chairman
(ii)	Syed Zahid Hussain	Executive Engineer, Civic Centre Division, KDA	Member
(iii)	Syed Ali Abbas	Deputy Director (F&A), SMBBT	Member/Secretary

This issue with the approval of competent authority.

DEPUTY DIRECTOR (ADMIN)

SHAHEED MOHTARMA BENAZIR BHUTTO TOWN

Distributions:

- 1. Managing Director, SPPRA
- 2. PS to Project Director, SMBBT
- 3. All Members of Procurement Committee